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Industrialization 

What impact did technological advances have on industrial 
revolution? Both had long working hours. Jobless lived in 
climates where society being restricted area.
What was the benefit of the railroad in britain during the 
early industrial age? Easy transportation, Easy trading 
What were some positive (social/economic) aspects of 
industrialization? Prices for goods went down, easy 
transportation.



 How did the philosophy of laissez-faire economics 
influence early industrialists? With ideas of free market 
economy governed by natural laws, not government 
regulations
How did the impact of worldwide industrialization affect 
the relationships between industrialized nations and non-
industrialized nations?  It was the driving force behind 
imperialism.
What is the connection between socialism and 
communism?
Communism is a form of complete socialism in which the 
people own all production and property



What was the main purpose of the berlin conference of 
1884-1885? It was a Meeting between european nations to 
equally divide africa.
What happened as a result of the sepoy mutiny in India? 
The british gov’t took direct command of India.

 Why did Western nations desire lands in the Pacific Rim? 
Because of their natural resources and strategic location.

Imperialism



 Why was India called the "jewel in the crown"?
It was the most valuable of all of Britain's colonies
What happened as a result of the Berlin Conference of 
1884-1885? Europeans divided Africa into colonies without 
consulting African leaders
What was the main cause of inadequate food supplies in 
Africa during European colonization?Europeans insisted on 
the growth of cash crops, such as cotton



World War 1
What event in Sarajevo ignited the great war?      hhh jjjj 
The assassination of Archduke Franz Ferdinand and his 
wife Sophie.
What is the most probable link between militarism and 
imperialism? As a country gains colonies, its military grows 
to protect them.
How did the allies respond to Wilson’s vision for peace? 
Britain and France showed little sign of agreeing to 
Wilson’s vision, they was concerned with making 
themselves better.



 What was significant in the allied victory at the first 
battle of the marne? It resulted in Germany having to 
fight 2 front wars.
What were Woodrow Wilson's fourteen points? A proposal 
by Wilson to achieve a just and lasting peace.



World War 2

What was the Allie’s plan for victory over the Nazis? D-day 
and the battle of bulge (2 front war with Germany) could 
not rise against the U.S.
Why were thousands of U.S citizens put in internment 
camps during the war? Any U.S citizen who was Japanese 
German etc. were put there so they could not rise against 
the U.S.
Why did Truman agree to use the atomic bomb? To end 
the war more quickly.
 



  
What were some reasons for the number of displaced 
persons after World War II? Homes were destroyed, cities 
were destroyed, and jobs and schools were destroyed. 
What prompted Great Britain and France to declare war 
on Germany at the start of World War II? The invasion of 
Poland.
What was addressed by the Nuremberg trials? The 
Holocaust



Genocide 

How were the Holocaust and Hitler’s “Final Solution” 
related? The Holocaust was the term for the genocide that 
resulted from the Final Solution.
What were some warning signs that genocide was going to 
take place in Rwanda in the 1900’s? Discrimination, Name 
calling.



Apartheid

Where does the word “Apartheid” come from and mean? 
It came from the Afrikaans ‘apartheid’ in 1929 and literally 
means ‘separateness’
What were some of the Apartheid laws of South Africa? 
Blacks are to walk on opposite sides of the street.
From 1970-1980 the South African government saw an 
increase in anti-apartheid protests and acts of sabotage. 
How did the government react? The government acted by 
killing the protesters. 


